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329 FE= 2306251400105600329 EEEIED = /5% L 90 81.1
330 RN 2306251400105600330 BEEIED =R/ERL 71 55.0
331 K 7% 2306251400105600331 EEEIED = /5% L 50.5 56.8
332 H&HT 2306251400105600332 BEEIE = /5% L 0 0.0
333 B 2306251400105600333 EEEIED = /5% L 82 73.0
334 X {E 2306251400105600334 BEEIEm = /5% L 0 0.0
335 E 2306251400105600335 EREHEID =R/5%T 78.5 72.1
336 T NIB 2306251400105600336 BEEIED =R/5RT 80.5 55.9
337 eSS 2306251400105600337 BEEIED =R/5RT 72 56.8
338 [P 2306251400105600338 BEEIEh =R/5RT 77 49.6
339 EY i35 2306251400105600339 BEEIED =R/5RT 67 53.2
340 X 2 W 2306251400105600340 BEEIED =R/5RT 0 0.0
341 F—= 2306251400105600341 BEEIEh =R/5RT 0 0.0
342 RATYE 2306251400105600342 BEEIED =R/5RT 0 0.0
343 M= 2306251400105600343 BEEEm =R/5RT 0 0.0
344 SBAER 2306251400105600344 BEEEm =R/5RT 0 0.0
345 FFE 2306251400105600345 BEEE =R/5RT 57 56.8
346 RE 2306251400105600346 BEEEm =R/5RT 66.5 56.8
347 =R 2306251400105600347 BEEE =R/ERT 58 56.8
348 T 2306251400105600348 BEEE =R/5RT 0 0.0
349 KT 2306251400105600349 BEEIED =%/5%T 66 514
350 ZEN 2306251400105600350 BEEE =R/5RT 715 53.2
351 SFE 2306251400105600351 BREHEID =%/5%T 61 514
352 EE 2306251400105600352 EEEHEID =R/5%T 81.5 64.0
353 B 2306251400105600353 EEEHEID =R/5RT 59 51.4
354 R 2306251400105600354 EEEHEID =R/5%T 0 0.0
355 [ 2306251400105600355 BEEE =%/SHRL 79 75.7
356 MIRER 2306251400105600356 EEEHEID =R/5RT 66.5 64.9
357 REE 2306251400105600357 EEEHEID =R/5RT 69 48.7
358 X 1E 2306251400105600358 EEEHEID =R/5RT 64.5 478
359 it 2306251400105600359 EEEHEID =R/5RT 70.5 58.6
360 EET 2306251400105600360 EREEEID S = 57.5 57.7
361 ECED 2306251400105600361 EREEEID = 735 60.0
362 SKIHIS 2306251400105600362 EREEEID = 73 55.0
363 FEE 2306251400105600363 EREEEID = 90 84.7




364 B 2306251400105600364 =E —%/5

365 BT 2306251400105600365 %gggg = %E‘E&I - 2o
366 L 2306251400105600366 HEREHED ;2&/2;&1 & E
367 pJE 2306251400105600367 EREHEID ;;&/‘T‘;&I T S5t
368 FHE 2306251400105600368 EREHID = &/E‘;ﬂl ok 02
369 R 2306251400105600369 EREHED 52&/‘?‘;&1 ok 00
370 =R 2306251400105600370 BEESIED = /E‘;}}LI e o5
371 s 2306251400105600371 ﬁ%ﬁa%*%fiﬂﬂi = %/E‘;&I R B
372 EYRE) 2306251400105600372 BEREER ;%g;ﬂl ) o7
373 FER 2306251400105600373 EREHED ;&/E‘;ﬂl i ot
374 1 2306251400105600374 EREHED = &/E‘;ﬂl 5 oo
375 M 2306251400105600375 BEREER 52&/‘?‘;&1 3 o
376 2= 2306251400105600376 EREHEID 5&/‘?‘;—&1 5 o6
377 EE 2306251400105600377 EREEHEID = &/‘T‘;—&I 5 00
378 [ ianan 2306251400105600378 EREHEID = &/‘T‘;—&I : o
379 KN 2306251400105600379 EREHEID = &/‘T‘;—&I > 510
380 Ik 2306251400105600380 EREEHEID 52&/‘?‘;—&1 = i
381 MES 2306251400105600381 EREHED = &/‘T‘;—&I 5 5o
382 lé.‘[émﬁi 2306251400105600382 EREHEID = &/E‘;—%% 5 00
383 SEAIN 2306251400105600383 EREHEID = &/E‘;—& 5 50
384 FHA 2306251400105600384 BEEEID =5t = - 52
385 EEA 2306251400105600385 BEEEI = &/‘T‘;—&I > 33
386 SPRIE 2306251400105600386 BEEEID = &/E‘;—&I T oo
387 XRA 2306251400105600387 BEEE = &/‘T‘;—&I 0 50
388 H# 2306251400105600388 EREEHEID ;ffzi/*'j‘;-ﬁI 3 7
389 T5E 2306251400105600389 BEEER = &/E‘;—&I o 5
390 oK B+ 2306251400105600390 ﬁ%ﬁi?%ﬂﬂﬂi = &/‘T‘;—&I e "
301 ! 2306251400105600391 EREEHEID = &/E‘;—&I E o
392 = 2306251400105600392 EREEHEID = &/‘T‘;—&I Ok 53
393 S A 38 2306251400105600393 EEEHEID = &/E‘;&I 5 5o
394 =4 2306251400105600394 EEEHEID ;’&/E‘;&I 5 50
395 REF 2306251400105600395 EEEHEID = &/E‘;&I 5 00
396 BKER & 2306251400105600396 EEEHEID = &/E‘;%% 5 05
397 EIES 2306251400105600397 EEEHEID ;%E—; T 5 05
398 k&% 2306251400105600398 EEEHEID = &/E‘;& 5 00
399 X8 2306251400105600399 EEEHEID = &/E‘;&I 5 5
400 K&K 2306251400105600400 EEEHEID = &/E‘;&I 5 2
401 ERE 2306251400105600401 EREEEID ;2&/3‘5&1 5 oD
402 fi5 2306251400105600402 EREEEID = &/E‘;}}I g ht
403 z%ﬁ; 2306251400105600403 EREEEID = &/g‘;%; 2(1) 23'6
404 K= 2306251400105600404 EREEEID —R/BRT 60 55:3




405 g 2306251400105600405 BREEIEID =RB/ERL 0 0.0
406 RHE 2306251400105600406 EEEIED =R/E5RL 0 0.0
407 11585 2306251400105600407 BEEIEm =R/E5RL 75.5 51.4
408 IBE3] 2306251400105600408 EEEIED =RB/ERL 0 0.0
409 BN 2306251400105600409 EEEIED =R/ERL 62 40.6
410 B kA 2306251400105600410 BEREIRID =R/5RT 51 46.9
411 EEFH 2306251400105600411 EREEN =R/5RL 90 64.0
412 XE% 2306251400105600412 BEEIEm =R/ERL 0 0.0
413 ESC 2306251400105600413 EEEIED =R/5RL 0 0.0
414 K 2306251400105600414 BEEIE =R/5RL 73 63.1
415 HEE 2306251400105600415 EEEIED =R/ERL 52 60.4
416 %8 2306251400105600416 EEEIED =R/5RL 0 0.0
417 HEF 2306251400105600417 EREHEID =RB/ERT 0 0.0
418 X =8 2306251400105600418 EREEHEID =R/5%T 84 64.0
419 B C A% 2306251400105600419 EREHEID —R/SRT 71 61.3
420 Xl gy £ 2306251400105600420 EREHEID —R/SRT 85 63.1
421 ESE 2306251400105600421 EREEHEID =R/5%T 0 0.0
422 215 2306251400105600422 EREHED —R/SRT 89 69.4
423 R 2306251400105600423 EREHEID —R/SRT 86.5 73.0
424 ol JH5 15 2306251400105600424 EEREIED —R/5HT 70.5 48.7
425 X 3256 2306251400105600425 EREEHEID —R/SRT 52 50.5
426 HHES 2306251400105600426 EREEHEID =RB/ERT 0 0.0
427 oK BE i 2306251400105600427 BESIED =R/5RT 0 0.0
428 E T 2306251400105600428 EREEHEID —R/SRT 81 60.0
429 X ES 2306251400105600429 BREHEID =%/5%T 0 0.0
430 N5 2306251400105600430 BREEID =%/5%T 63.5 49.6
431 SR iAN 2306251400105600431 BREEID =%/5%T 69 514
432 F 50 2306251400105600432 BREHEID =%/5%T 59 54.1
433 El 2306251400105600433 BREHEID =%/5%T 0 0.0
434 2=k 2306251400105600434 EEEHEID —R/ESRT 0 0.0
435 EXE 2306251400105600435 EEEHEID —R/ESRT 745 67.6
436 XI5 3] 2306251400105600436 EEEHEID =R/5RT 83 73.9
437 =W 2306251400105600437 EEEHEID =R/5%T 82.5 57.7
438 E& 2306251400105600438 EEEHEID —R/ESRT 86.5 74.8
439 k] 2306251400105600439 EEEHEID =R/5RT 73 52.3
440 REE 2306251400105600440 EEEHEID =R/5RT 925 65.8
441 ol IV e 2306251400105600441 EEEHEID =%/5RT 72 60.0
442 F ¥ 2306251400105600442 EREEEID —R/SRT 525 415
443 ERES ] 2306251400105600443 EREEEID —R/SRT 715 65.8
444 INER 2306251400105600444 EREEEID —R/SRT 70.5 51.4
445 % 2306251400105600445 EREEEID = 82.5 66.7




446 5K+ 2306251400105600446 BEEIEm = /5H% L 85.5 60.0
447 BES 2306251400105600447 EEEIED =R/E5RL 65.5 69.4
448 REE 2306251400105600448 BEEIEm = /5HR L 58 60.0
449 PN 2306251400105600449 BEREIED =R/SHKT 74.5 775
450 FITIR 2306251400105600450 BEEIEm = /5% L 0 0.0
451 798 2306251400105600451 BEEIEm = /5% L 70.5 62.2
452 BEA 2306251400105600452 BEEIE = /5% L 0 0.0
453 RIET 2306251400105600453 EEEIED = /5% L 90.5 65.8
454 £ 2306251400105600454 BEEIEm = /5% L 735 60.0
455 EE 2306251400105600455 BEEIE = /5% L 0 0.0
456 X BEER 2306251400105600456 EEEIED = /5% L 0 0.0
457 TS 2306251400105600457 BEEIEm = /5% L 0 0.0
458 P 2306251400105600458 EREHEID =R/5%T 0 0.0
459 U 2306251400105600459 BEREIRID =%/5%T 60 58.6
460 EDe 2306251400105600460 BEREIRID =%/5%T 0 0.0
461 Bl 2306251400105600461 BEEIEh =R/5RT 0 0.0
462 Tz 2306251400105600462 BEEIED =R/5RT 69 53.2
463 EE 2306251400105600463 BEESIED =RB/ERT 82 60.4
464 HXT 2306251400105600464 BEREIRID =%/5%T 70.5 57.7
465 =EKR 2306251400105600465 BEEIED =R/5RT 72.5 60.4
466 TRF 2306251400105600466 BEEIED =%/5%T 75.5 75.7
467 VAL 2306251400105600467 BEEEm =R/5RT 52 55.0
468 B 2306251400105600468 BEEE =R/5RT 69.5 64.0
469 & 2306251400105600469 BEEEm =R/5RT 68 52.3
470 a't:zf/ 2306251400105600470 BESIED =R/ERT 65.5 55.9
471 It 2306251400105600471 BESIED =R/ERT 63.5 52.3
472 E3ne 2306251400105600472 BEEEm =R/5RT 0 0.0
473 RN 2306251400105600473 BEEE =R/ERT 52.5 487
474 ESE 2306251400105600474 BESIED =R/5RT 0 0.0
475 e 2306251400105600475 EEEHEID =R/5RT 87 65.8
476 XBE 2306251400105600476 EEEHEID =%/S5RT 75 74.8
477 EE3 2306251400105600477 EEEHEID =R/5RT 73 51.4
478 PR 2306251400105600478 EEEHEID —R/SRT 72 54.1
479 FrE 2306251400105600479 EEEHEID =R/5RT 55.5 478
480 D 3CE 2306251400105600480 EEEHEID =R/5RT 0 0.0
481 F£ 2306251400105600481 EEEHEID =R/5RT 64 61.3
482 X 2306251400105600482 EEEHEID =R/5RT 70.5 58.6
433 FE/D BB 2306251400105600483 EREEEID S = 62 54.1
4384 ol 2306251400105600484 EREEEID = 69.5 51.4
485 A Tk 2306251400105600485 EREEEID = 0 0.0
4386 =R 2306251400105600486 EREEEID = 62.5 69.4




437 KA 2306251400105600487 BEEIEm = /5H% L 80.5 69.4
488 ICES 2306251400105600488 EEEIED = /5HK L 79 73.0
489 oK $R A5 2306251400105600489 BREIEID = 70 70.3
490 REFE 2306251400105600490 BEEIE = /5% L 80.5 53.2
491 ESESDA 2306251400105600491 BEREIED =R/SHKT 81.5 51.4
492 kT 2306251400105600492 BEEIEm = /5% L 57 66.7
493 FE74n 2306251400105600493 BEREIRID =R/5RT 76.5 66.7
494 = 2306251400105600494 EEEIED = /5% L 83 82.0
495 XA 2306251400105600495 BEEIEm = /5% L 0 0.0
496 EEE* 2306251400105600496 EEEIED = /5% L 715 66.7
497 S 2306251400105600497 EEEIED = /5% L 69 50.5
498 %R 2306251400105600498 BEEIEm = /5% L 78 55.0
499 Fo] ik 2306251400105600499 EREHEID =R/5%T 0 0.0
500 A 2306251400105600500 BEREIRID =%/5%T 58 52.3
501 & =18 2306251400105600501 BEEIED =R/5RT 85.5 63.1
502 ABAX 2306251400105600502 BEEIEh =R/5RT 67.5 51.4
503 BiEa 2306251400105600503 BEEIED =R/5RT 70 64.9
504 SR 2306251400105600504 BEEIED =%/5RT 76 61.3
505 &St 2306251400105600505 BEEIEh =R/5RT 0 0.0
506 ESA 2306251400105600506 BEEIED =R/5RT 92.5 63.1
507 oK 3= X 2306251400105600507 BEEIEh =R/5%T 64 56.8
508 FF¥ 2306251400105600508 BEEEm =R/5RT 60.5 72.1
509 EXESH] 2306251400105600509 BEEE =R/5RT 76 57.7
510 F K20 2306251400105600510 BEEEm =R/5RT 74.5 61.3
511 x4 2306251400105600511 BEEE =R/5RT 75 61.3
512 FFEG 2306251400105600512 BEEE =R/5RT 73.5 66.7
513 SEERIK 2306251400105600513 BRI B = 84 64.9
514 %K 2306251400105600514 BEEE =R/5RT 74.5 56.8
515 e 2306251400105600515 BREHEID =%/5%T 73 62.2
516 = 2306251400105600516 EEEHEID =R/5%T 82 64.0
517 F ik 2306251400105600517 EEEHEID =R/5RT 68 57.7
518 ki 2306251400105600518 EEEHEID =R/5RT 0 0.0
519 #H;Zﬂf 2306251400105600519 EEEHEID =R/5RT 78 71.2
520 S 2306251400105600520 EEEHEID —R/ESRT 88 60.0
521 B 2306251400105600521 EEEHEID =R/5RT 62 51.4
522 eSS 2306251400105600522 EEEHEID =R/5RT 75.5 67.6
523 EE= 2306251400105600523 EEEHEID =R/5RT 93.5 66.7
524 REIX 2306251400105600524 EREEEID =R/5RT 76.5 52.3
525 T2 2306251400105600525 EREEEID =R/5RT 64 60.0
526 sk SRAE 2306251400105600526 BREIED =R/5RT 58 487
527 15 2306251400105600527 EREEEID =R/5RT 56.5 52.3




528 KRR 2306251400105600528 EEEIED = /5H% L 78 721
529 R iE 2306251400105600529 BEREIEID =R/SRT 70.5 62.2
530 HER 2306251400105600530 EEEIED = /5HR L 86 60.0
531 EEE 2306251400105600531 EEEIED = /5% L 69.5 49.6
532 == 2306251400105600532 EEEIED = /5% L 88.5 63.1
533 B 2306251400105600533 EEEIED = /5% L 83.5 62.2
534 ko] 2306251400105600534 EEEIED = /5% L 79 75.7
535 RS 2306251400105600535 EEEIED = /5% L 79.5 60.4
536 EELE 2306251400105600536 EEEIED = /5% L 79.5 56.8
537 A 2306251400105600537 EEEIED = /5% L 65 47.8
538 B 2306251400105600538 BEREIRID =R/5RT 67 46.9
539 P IER 2306251400105600539 BEEIEID =R/5RL 79 63.1
540 HER 2306251400105600540 BEEE =%/5R T 56 51.4
5471 FELE 2306251400105600541 EREEHEID =R/5%T 67.5 64.0
542 ME A 2306251400105600542 EREHEID —R/SRT 72.5 451
543 T¥E 2306251400105600543 EREHEID =R/5%T 90 67.6
544 =G 2306251400105600544 EREEHEID =R/5RT 81 66.7
545 FETE 2306251400105600545 EREHED =R/5%T 77.5 57.7
546 NG 2306251400105600546 EREHEID =R/5%T 66 61.3
547 HHE 2306251400105600547 EREHEID =R/5%T 78 62.2
548 LA 2306251400105600548 EREEHEID —R/SRT 67.5 55.9
549 ES o 2306251400105600549 BREHEID =%/5%T 82 64.0
550 B 2306251400105600550 BESIED =R/5RT 64.5 55.9
551 A 2306251400105600551 EREEHEID =RB/ERT 0 0.0
552 ¥ 2306251400105600552 EREEHEID —R/SRT 87.5 70.3
553 e 2306251400105600553 BESIED =R/5RT 86 73.9
554 RrEH 2306251400105600554 BREEID =%/5%T 54.5 48.7
555 aEE 2306251400105600555 BREHEID =%/5%T 85 62.2
556 X 22 4 2306251400105600556 BREHEID =%/5%T 65 46.9
557 50 2 2306251400105600557 EEEHEID —R/ESRT 75.5 66.7
558 B = 2306251400105600558 EEEHEID —R/ESRT 67.5 60.0
559 %ia 2306251400105600559 EEEHEID =R/5RT 76 64.0
560 T 3 3 2306251400105600560 EEEHEID =R/5RT 0 0.0
561 FE 2306251400105600561 EEEHEID =R/5%T 78 60.0
562 M E 2306251400105600562 EEEHEID =R/5RT 84 56.8
563 = /=M 2306251400105600563 EEEHEID =R/5RT 61 47.8
564 REE 2306251400105600564 EEEHEID —R/SRT 82.5 74.8
565 215 2306251400105600565 EREEEID =R/5RT 84 58.6
566 RE 2306251400105600566 EREEEID =R/5RT 84 70.3
567 FRIERR 2306251400105600567 EREEEID —R/SRT 76 60.4
568 ESIELE! 2306251400105600568 EREEEID =R/5RT 76.5 57.7




569 K 2306251400105600569 BREEIEID =RB/ERL 0 0.0
570 B 2306251400105600570 BEREIEID =R/SRT 0 0.0
571 LEEE 2306251400105600571 EEEIED =R/E5RL 78.5 61.3
572 IR 2306251400105600572 BREEIED =RB/ERL 72 53.2
573 RIZTE 2306251400105600573 BEEIED =R/ERL 68 57.7
574 BEE 2306251400105600574 BEEIED =R/5RL 84 56.8
575 fiv g 2306251400105600575 BEREIRID =R/5RT 84 63.1
576 =k 2306251400105600576 BEEIED =R/ERL 0 0.0
577 ES3 2306251400105600577 BEEIEID =R/5RL 86.5 60.4
578 HiEE 2306251400105600578 BEEIED =R/5RL 78.5 58.6
579 FEW 2306251400105600579 BEEIED =R/ERL 96.5 63.1




